

Government of West Bengal Office of the Deputy Commissioner of Police

7th Battalion, Kolkata Armed Police
7, Diamond Harbour Road, Kolkata – 700 027

Memo No. 164 / HA 7th Bn. K.A.P

Dated 30.09, /2025

NOTICE

Sub: Major sanitary plumbing at 1st, 2nd and 3rd floor at Barrack No. 04 at B.G. Lines' at 7, Diamond Harbour Road, Kolkata – 700 027 during the year 2025 – 2026

Ref: Tender No. 7th Bn., KAP / Tender - 01 (Minor Works) / 2025 – 2026 Dated 30th April, 2025

NOTICE INVITING TENDER

(Percentage rate type)

1. Sealed tenders are invited for the following works from eligible tenderers as per particulars given below:

			at Barrack No. 04 B.G.Lines, 7, Diamond Harbour Road, Kolkata–700027 during the year 2025 - 2026.
(b)	Who are eligible to submit	:	All bonafide Contractors / Firms / Local Body having such business and knowledge in this regard and having necessary & sufficient financial capacity & experience.
(c)	Last date for receipt of Tender	:	08 -05-2025 up to 17:00 Hrs. (IST)
(d)	Tender opening date	:	14 -05-2025
(e)	Estimated amount put to tender	:	Rs.98,885.00 (Rupees Ninety Eight Thousand Eight Hundred & Eighty Five) only
(f)	Time allowed for completion of works	:	10 (Ten) days after the issue date of the Work Order
(h)	Earnest Money Deposit (EMD)	:	Rs.2000.00 (Rupees Two Thousand) only

- 2. The tender documents and other relevant particulars (if any) may be seen by the intending tenderers during office hours in the Office of the Deputy Commissioner of Police, 7th Battalion, Kolkata Armed Police (B.G.L. Compound), 7, Diamond Harbour Road, Kolkata 700 027 during the year 2025 2026.
- 3. The Contractors should deposit EMD along with his own bid, payable to "The Deputy Commissioner of Police, 7th Battalion, Kolkata Armed Police (B.G.L. Compound), 7, Diamond Harbour Road, Kolkata 700 027" as Demand Draft from any Nationalised Bank.
- 4. The Contractor shall submit filled tender documents enclosed with valid & current Trade Licence (Photocopy, Self-Attested), G.S.T. Registration Certificate (Photocopy, Self-Attested), PAN (Photocopy, Self-Attested), Professional Tax Receipt (Photocopy, Self-Attested) & latest IT Return (Self Attested).

- 5. Sealed Tender addressed to "The Deputy Commissioner of Police, 7th Battalion, Kolkata Armed Police (B.G.L. Compound), 7, Diamond Harbour Road, Kolkata 700 027" should be sent in a sealed cover super scribing the envelope as name of tender "Major sanitary plumbing at 1st, 2nd and 3rd floor at Barrack No. 04 at B.G.Lines at 7, Diamond Harbour 7, Diamond Harbour Road, Kolkata 700 027 during the year 2025 2026" to be dropped in the sealed TENDER DROP BOX, kept at the office of the Head Assistant, 7th Battalion, Kolkata Armed Police(B.G.L. Compound) of 7, Diamond Harbour Road, Kolkata–700 027 on or before 08th May, 2025 within 17.00 Hrs. or, may also be sent by Registered Post / Speed Post to reach on or before 08th May, 2025 within 17.00 Hrs.
- 6. The Tender Committee reserves the right to reject any/or all the tenders without assigning any reason. If requires, the undersigned & also the Chairman of the Tender Committee holds the right to change / alter & addition of rules of the tender. The undersigned also reserves the right not to enter in any contract with tenderers at all.
- 7. The Tender Committee will open the sealed tenders in the office of the Deputy Commissioner of Police, 7th Battalion, Kolkata Armed Police (B.G.L. Compound), 7, Diamond Harbour Road, Kolkata 700 027. The tenderers may be present or send their authorised representatives at the time of opening the sealed tenders on 14th May, 2025.

Terms & Conditions of Tenders:

- 1. All works to be carried out in a manner according to specification for original work
- 2. All materials, tools, labour & transport will have to be provided by the contractor at their own cost inclusive of all taxes and other.
- No extra work shall be allowed without prior approval of the competent authority.
- 4. In no case, there shall be any change in the amount of Rs.98,885.00.00 (Rupees Ninety Eight Thousand Eight Hundred & Eighty Five) only.
- 5. The contractors shall inspect the schedule of nature of works at site to assess all eventualities connected with works. Any other information connected with this work may be obtained from the B.O. & D.D.O., 7th Battalion, Kolkata Armed Police(B.G.L. Compound) of 7, Diamond Harbour Road, Kolkata 700 027. No deviation after submission of tender by the contractors will be considered.

Definite Commissioner of Police Police 7th Bn., Kolkata Armed Police

<u>ANNEXURE</u>

REQUIREMENT OF MAJOR SANITARY PLUMBING AT 1ST, 2ND & 3RD FLOOR AT BARRACK No. 4 AT BODY GUARD LINES AT 7 D.H ROAD ALIPORE, KOLKATA-

700027 **PWDSOR** SL 2017 Items of Work NO Amount Unit Rate Onty Ref. Supplying, fitting and fixing PVC pipes of approved make of Schedule 80 (medium duty) conforming to ASTMD - 1785 and threaded to match with GI Pipes as per IS : 1239 (Part - I).two coats of painting with approved paint in any position Sec-A, Aabove ground. (Payment will be made on 1 II Pg-28 the centre line measurements of total pipe line including all specials. No separate payment will be made for accesories, specials. Payment for painting will be made seperately) (a) For Exposed Work (i) CPVC Pipes Class-1, SDR-11 iii) In Third floor (100mm Dia) 5.5 Mtr 1134.00 6237.00 Supply of PVC pipes & fittings Schedule Sec-A, A- 80 (medium duty) conforming to ASTMD 2 III /2 Pg - 1785 and threaded to match with GI Pipes as per IS: 1239 (Part - I). 29 (B) Socket iii) (100mm Dia) 4 Each 147.00 588.00 (C) Tee iii) (100mm Dia) 8 Each 642.00 5136.00 (D) Reducing Socket 25 mm X 15mm 8 Each 20.00 160.00 (L) Elbow (45°) 100 mm 8 Each 479.00 3832.00 Socket 100 mm

Each

4

363.00

1452.00

	1	/					
	3	S&P Sec- A, 2/A/II Pg -29	Iground (Daymont will be seed as		1 '6'. 1		
			a) 50 mm. thick	49.6	Mtr	489.00	24254.40
in any Committee of the	4	Sec-1, C- 36(a) Pg 43	Ihrand DVC COMMINIONAL	5	ЕАСН	82.00	410.00
Constitution of Constitution o	5	Sec-1, C- 36(a) Pg 43	Supplying, fitting and fixing approved brand 32 mm dia.P.V.C. waste pipe with PVC coupling at one end fitted with necessary clamps		EACH	59.00	295.00
	6	Sec-A, A- III-P /2 Pg -33	Bib cock	13	Each	240.00	3120.00
	7		Supplying, Fitting & Fixing Factory made prelaminated P.V.C. door frame of size 50 mmx47 mm M.S. Screws through the frame by using P.V.C fasteners. A minimum of 4 Nos of screws to be provided for each vertical member and minimum 2 Nos for horizontal member etc. complete as per Manufacturer"s specification and direction of Engineer-in Charge.	82.45	Mtr.	385.00	31743.25
	8	Sec-1, L-1 Pg - 166	Supplying best Indian Sheet glass 5 mm thick including cutting to required sizes, setting on putty bases and fitted and fixed with teak glazing beads (19 mm x 12 mm) including putty and nails as necessary complete. (In all floors for internal wall & upto 6 m height for external wall)	5.25	sqm	1094.00	5743.50
		SUB TOTAL OF WORK VALUE (Rs) TOTAL CGST (@ 9% OF SUB TOTAL WORK VALUE) TOTAL SGST (@ 9% OF SUB TOTAL WORK VALUE)					
			Add 1% for LW Cess	4	97905.96		
	1		GRAND TOTAL OF WORK VALUE (R.	c)			979.06
			98885.02				